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Multiplication (Vertical) Name:
Solve each problem. Answers
1) 483 2) 822 3) 387 4) 370
X 48 X 45 88 X 30 L
2.
3.
4,
5) 810 6) 367 7) 598 8) 333
X 21 x 41 56 X 86 5.
6.
7.
8.
9) 848 10) 242 11) 408 12) 514
X 91 x 39 66 X 89 9.
10.
11.
12.
13) 374 14) 222 15) 492 16) 688
X 57 x 17 94 X 14 13.
14,
15,
17) 960  18) 983 19) 625  20) 630 °
X 75 x 43 29 X 21 17
18.
19.
20.
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Solve each problem.

1)

3,864

+1
2

3,184

5)

810

+1
1

7,010

9)

+7
=

7,168

13)

2,618

+1
2

1,318

17)

4,800

+ 6
7

2,000
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483
48

9,320

810
21

6,200

848
91
848
6,320

374
S7

8,700

960
75

7,200

Multiplication (Vertical) Name: ~ Answer Key
Answers
2) 822 387 4 370
X 45 x 88 x 30 1 _ 25,184
4,110 3,096 0 36,990
+32,880 +30,960 +11,100
36,990 34,056 11,100 . 34,056
s, 11,100
6) 367 598  8) 333
X 41 X 56 x 86 s. 17,010
367 3,588 1,998 15.047
+14,680 +29,900 + 26,640 > ’
15,047 33,488 28,638 . 33,488
g 28,638
10 242 408 12 514
x 39 x 66 x 89 o. _ (7,168
2,178 2,448 4,626 0 438
+7,260 + 24,480 +41,120 —
9,438 26,928 45,746 L 26,928
12 45746
4) 222 492  16) 688
x 17 X 94 X 14 13, 21,318
1,554 1,968 2,752
+2,220 + 44,280 +6,880 4. 3,774
3,774 46,248 9,632 o 46,248
16. 9,632
18) 983 625  20) 630
ol 43 X 29 x 21 17, (2,000
2,949 5,625 630
+39,320 +12,500 +12,600 18. 42,269
42,269 18,125 13,230
19. 18,125
20 13,230
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Multiplication (Vertical) Name:
Solve each problem. Answers
45,746 15,047 26,928 11,100
1.
28,638 23,184 36,990 9,438
77,168 17,010 34,056 33,488 2.
3.
1) 483 2) 822 3) 387 4) 370 4.
X 48 X 45 X 88 X 30
o 5.
6.
7.
5) 810 6) 367 7) 598 8) 333 8.
X 21 X 41 X 56 x 86
9.
10.
11.
9) 848 10) 242 11) 408 12) 514 .
X 91 X 39 X 66 x 89
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